N =

Test (Regular 2(b)(i), No Context (i), Full Context 2(b)(i))
One (Regular (b)(i), No Context (i), Full Context 2(b)(1))
(a) Two (Regular (b)(i), No Context (i), Full Context 2(b)(i))
(b) Three
(1) Four — This is the cross-referencing target
(i1) Five (Regular (i), No Context (i), Full Context 2(b)(i))
(A) Five and a bit (Regular (i), No Context (i), Full Context 2(b)(i))
(c) Six
(d) Seven (Regular (b)(i), No Context (i), Full Context 2(b)(i))
Eight (Regular 2(b)(i), No Context (i), Full Context 2(b)(1))
(a) Nine (Regular 2(b)(i), No Context (i), Full Context 2(b)(1))
(b) Ten (Regular 2(b)(i), No Context (i), Full Context 2(b)(i))
(1) Eleven (Regular 2(b)(i), No Context (i), Full Context 2(b)(i))
(i1) Twelve (Regular 2(b)(i), No Context (i), Full Context 2(b)(i))
(c) Thirteen (Regular 2(b)(i), No Context (i), Full Context 2(b)(i))
Fourteen (Regular 2(b)(i), No Context (i), Full Context 2(b)(1))



